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int x = 10;
obj.inc(x);

\

int inc(int a)

{

a = a+l;

}




public class MyCounter {

int value;
void inc(int a) {
a=a+1;

1

)

public class MyCounterTest1 §
public static void main(String args[]) {
MyCounter obj = new MyCounter();
int x = 10;
obj.inc(x);

System.out.printin("x =" + x);
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int inc(MyCounter ctr)
MyCounter obj = new MyCounter(); {
obj.inc( obj ); ctr.value=ctr.value+l;

}

\ J . w




class MyCounter {

int value = 0;
void inc(MyCounter ctr) {
ctr.value = ctr.value + 1;

1
3

public class MyCounterTest2 {
public static void main(String args]]) {
MyCounter obj = new MyCounter();

System.out.printin("obj.value =" + obj.value);
obj.inc(obj);
System.out.printin("obj.value =" + obj.value);

V| obj.value = 0

obj.value = 1







void inc(intf[] array)
{ array

IS

nt[f list={1, 2, 3, 4, 5}, for (int i = 0; i < array.length; i++)
ArrayProc obj = new ArrayProc();
obj.inc(list): arravfi] = arravfi] + I;
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® array.ArrayProc

@ getValues(array: int[]): void
@ getAverage(array: int[]): double

si= 2O0tA HiE 0

C) array.ArrayProcTest

& STUDENTS: int

@ main(args: String[]): void
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1mport java.util.Scanner;

public class ArrayProc {

public void getValues(int[] array) {

Scanner scan = new Scanner(System.in);

for (int 1 = 0; 1 < array.length; 1++) {

System.out.print("S XM =2 YUESIA|2:™);

array[1] = scan.nextInt();

b
public double getAverage(int[] array) {

double total = 0;
for (int 1 = 0; 1 < array.length; i++)
total += array[i];

return total / array.length;




public class ArrayProcTest §
final static int STUDENTS = 5;

public static void main(String[] args) {
int[] scores = new int[STUDENTS];
ArrayProc obj = new ArrayProc();

obj.getValues(scores);
System.out.println("8 @2 =" + obj.getAverage(scores));
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public class Box {
int width, length, height;
int volume;

Box(int w, int 1, int h) {
width = w;
length = 1;

height = h;
volume = w * 1 * h;

}
Box whosLargest(Box box1, Box box2) {

if (box1.volume > box2.volume)
return box1;

else
return box2;




public class BoxTest {
public static void main(String args|]) {
Box objl = new Box(10, 20, 50);
Box obj2 = new Box(10, 30, 30);

Box largest = objl.whosLargest(obj1, obj2);
System.out.printin("(" + largest.width +"," + largest.length +","
+ largest.height + ")");

(10,20,50)




Box objl = new Box(10, 20. 50);
Box 0bj2 = new Box(10, 20, 50); Box whosLargest(Box box1, Box box2)
largest = objl.wvhosLargest( obj1, obj2 ): {

return box2;
/
0X.
large. /
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(® circle.Box (® circle.BoxTest
o width: int @ main(args: String[]): void
o length: int
o height: int

& Box(w: int, |: int, h: int)
& 1sSameBox(obj: Box): boolean




SOLUTION

public class Box {
int width, length, height;

Box(int w, int 1, int h) {
width = w;
length = 1;
height = h;

boolean isSameBox(Box obj) {
if ((obj.width == width) & (obj.length == length)
& (obj.height == height))
return true;

return false;




public class BoxTest {
public static void main(String args|]) {
Box objl = new Box(10, 20, 50);
Box obj2 = new Box(10, 20, 50);

System.out.println("objl == obj2 : " + objl.isSameBox(obj2));

obj1 == obj2 : true




obj

Box objl = new Box(10, 20, 50);
Box 0bj2 = new Box(10, 20, 50);

objl.isSameBox( 0bj2 ):

obj

boolean isSameBox(Box obj)

{
=
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class Television {
int channel;
int volume;
boolean onOff;
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class Television {
int channel;
int volume;
boolean onOff;
static int count;

}

.

channel

volume
onOff

count

channel

volume

channel

onOff

2% B

volume

onOff
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public class Car §
private String model;
private String color;
private int speed;

I XS X Alelg ¥s
private int id;
private static int numbers = 0;

public Car(String m, String c, int s) {
model = m;
color = c;
speed = s;
/I XtS XSl D=8 SItotd idl CH StCt.
id = ++numbers;




SOLUTION

O

public class CarTest {
public static void main(String args|]) {
Car cl1 = new Car("S600", “white”, 80); // = B MHAX S =
Car c2 = new Car("E500", “blue”, 20); // & M MAEX} S=
int n = Car.numbers; // & B
System.out.println("X| 27X &&= XSXt = ="+ n);

ASIA dE= INSI =+ =2
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O (0l) double value = Math.sqrt(9.0);



public class Car {
private String model;
private String color;
private int speed;

I XAtS XS] Alel &
private int id;
Il &XstE Car BHS I+ 2
private static int numbers =

public Car(String m, String c, int s) {
model = m;
color = c;
speed = s;
Il RS XL =& SItotL) id0fl CH & stit.
id = ++numbers;

858 At

public static int getNumberOfCars() {
return numbers; // OK!




BH H ofjF|

public class CarTest {
public static void main(String args|]) {
Car cl1 = new Car("S600", “white”, 80); [ H W MAX S
Car c2 = new Car("E500", “blue”, 20); R &A%t S &
int n = Car.getNumberOfCars(); /7 &ZF UL S=
System.out.printin("X| SV 48 & IS +="+n);

T2NX MEE ST + =
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(® employee.Employee (® employee EmployeeTest

o name: String @ main(args: String[]): void
o salary: double

o _count: int
@ Employee(n: String, s: double)
< finalize(): void

@ getCount(): int




SOLUTION

public class Employee {
private String name;
private double salary;

private static int count=0;// & BH=
[/ At
public Employee(String n, double s) {
name = n;
salary = s;
count++; // & #1490l countE &
}
[l MO 222 I SEECL.
protected void finalize() {
count——; // 20| 3L E0HEE= 210/22 countE otLF 24
}
/[ 88 HNAE
public static int getCount() {
return count;




public class EmployeeTest {
public static void main(String[] args) {
Employee el, e2, e3;
el = new Employee("2 & %=", 35000);
e2 = new Employee("zl~&", 50000);
e3 = new Employee("2&S", 20000);

int n = Employee.getCount();
System.out.printin("& {2 =& +£="+ n);







